PORTAFPALLETS P80 -P100 -P120

@
: -
Wy

. f Uyl o
N Il | Uy -
Uy - @%

EDD o |0 \ DD 0
DD” e @%
DEO @\’ DD o]

a. Uy| - :0 ,E%

. EDO ! @’ D AN \
g ° _
Uy e o
DDa Q >
Uyl .
4 O |
) ° 9
NP @\’ )
DS e D@ @
Uyl e D(@

Uy - Q| @
Uyl
o @a D @
| @
Dg, / o” D ’
Uyl o / a

DD] o\

¢ d

Vite T.C.E.I. M10x100 Zn. - 8.8

p » / Pl / / & 8
SO\
- [T [T

S ) ) ) S S ) S

Ul © R Vite T.C.E.l. M10x45 Zn. - 8.8
e v : Piastra di base
Uy ) I

Tassello acciaio tipo HX M10x90
Dado esagonale medio M8 Zn.

Montante

Traversa

Diagonale

Giunzione per fiancata

Vite T.C.E.l. M8x16 Zn. - 8.8

S S S S < S ) )

QWO NOOOUPAPWN-

-_—

&g
- D 7 7
g o g 4o
» ° ° o ° S ° ° ° °




